How big is the Milky Way?

Summary:

The Milky Way, our cosmic home, is incredibly vast. It takes our Sun about 250 million years to
complete one orbit around the center of the Milky Way galaxy.

Understanding the Size of the Milky Way:

Imagine our galaxy, the Milky Way, as a giant pinwheel spinning in space. It’s so big that it’s hard to
even imagine! But scientists have come up with clever ways to measure its size.

Measuring Distance in Space:

In space, distances are so huge that we need special units to measure them. Instead of using
kilometers or miles like we do on Earth, astronomers use units called light-years. A light-year is the
distance that light travels in one year, which is about 9.5 trillion kilometers (or 5.9 trillion miles)!

The Size of the Milky Way:

So, how big is the Milky Way? Well, it’s big enough that it takes our Sun—an average-sized
star—about 250 million years to complete one orbit around the center of the galaxy. That’s a long
time! It’s like going on a road trip that lasts for millions of years.

The Milky Way’s Spiral Arms:

The Milky Way has a beautiful spiral shape, with long, swirling arms that wrap around its center.
These spiral arms are where most of the stars, planets, and other cosmic goodies are found. Our
solar system, including Earth, is located in one of these spiral arms called the Orion Arm or Local
Spur.

Exploring the Milky Way:

Thanks to powerful telescopes and space probes, scientists have been able to explore the Milky Way
in more detail than ever before. They’ve discovered that our galaxy is home to billions of stars,
including our own Sun, as well as countless planets, moons, and other celestial objects.

The Milky Way is not just a random collection of stars—it’s our cosmic home, a vast and beautiful
galaxy that has captured the imagination of people for centuries. By studying the size and structure
of the Milky Way, scientists can learn more about the origins of the universe and our place within it.

FAQs
What is the size of the Milky Way galaxy?

The Milky Way galaxy is approximately 100,000 to 120,000 light-years in diameter.

How thick is the Milky Way galaxy?
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The Milky Way’s thickness varies, averaging about 1,000 light-years in the galactic disk, but can be
up to 3,000 light-years in the central bulge.

How many stars are there in the Milky Way?

The Milky Way is estimated to contain between 100 billion to 400 billion stars.
How far is Earth from the center of the Milky Way?

Earth is about 26,000 light-years away from the galactic center.

How fast is the Milky Way galaxy rotating?

The Milky Way rotates at an average speed of about 828,000 km/h (514,000 mph) at the location of
the Sun.

How long does it take for the Milky Way to complete one full rotation?
It takes approximately 225 to 250 million years for the Milky Way to complete one full rotation.
Is the Milky Way expanding?

Unlike galaxies that are receding from each other due to the expansion of the universe, the Milky
Way is not expanding. It is interacting gravitationally with its neighboring galaxies.

How does the Milky Way compare to other galaxies in terms of size?

The Milky Way is a large spiral galaxy but not among the largest galaxies. It is similar in size to
other large spiral galaxies but smaller compared to the largest galaxies known as supergalaxies.



